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Example Candidate Responses - Paper 2

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge IGCSE / IGCSE Economics (9—1)
0455 / 0987 and Cambridge O Level Economics 2281, and to show how different levels of candidates’ performance
(high, middle and low) relate to the subject’s curriculum and assessment objectives.

In this booklet, candidate responses have been chosen from the November 2020 exam series to exemplify a range of
answers.

For each question, the response is annotated with a clear explanation of where and why marks were awarded or
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is
possible for you to understand what candidates have done to gain their marks and what they could do to improve their
answers. There is also a list of common mistakes candidates made in their answers for each question.

This document provides illustrative examples of candidate work with examiner commentary. These help teachers
to assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in some
circumstances, such as where exact answers are required, there will not be much comment.

The questions and mark schemes used here are available to download from the School Support Hub. These files are:

0455 November 2020 Question Paper 22

0455 November 2020 Paper 22 Mark Scheme

Past exam resources and other teacher support materials are available on the School Support Hub:

www.cambridgeinternational.org/support



http://www.cambridgeinternational.org/support

How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- and low-level response for
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in
the right-hand column are the examiner comments.

Example Candidate Response — low Examiner comments
T T vty - el B W dntnance o) tretsolon Lyfess || @) Two more costs are given
S%}ms e} Comal Moow\ o ‘ { | here, one fixed and one var-
E iable. Only the first two costs
) | Mg KXeue  @osr o\ QRvm:\ L Koyt \/\mm« o qzt -&4- given are considered.
3 Mark for (b) = 1 out of 2
Bllame  Jgees \'\a\:Q PWF*A——W o[c/_\.\ovuzd ey |
Speties o - : @ This is a vague statement.
AS e Al dfeudion 0\ Jovtie Sa \Wdonote ol Lot oo | GThis is not a cost of con-
- P o serving the forests.
‘ o olod O\u ax oL\t ) . . , \
s wrony o WOl ouimals w0 vt Veve Vowe | gyominer comments are
e , ‘ alongside the answers. These
Answers are by real candidates in exam conditions. explain where and why marks
These show you the types of answers for each level. , were awarded. This helps you
—| Discuss and analyse the answers with your learners in to interpret the standard of —
the classroom to improve their skills. J Cambridge exams so you can
help your learners to refine
their exam technique.
N\ J

How the candidate could have improved their answer

+ The candidate needed to pay more attention to the stimulus material and answer the questions in more depth.

¢ (b) The candidate gave four costs when the question asked for two variable costs. In such a case, only the first two
costs identified are considered. In this case, the first two t.
This section explains how the candidate could
have improved each answer. This helps you to
interpret the standard of Cambridge exams and
helps your learners to refine their exam technique.

Common mistakes candidates made in this question

* (@) Making numerical errors.

* (b) Listing all the costs mentioned in the source material without separating out two variable costs.

* (c) Not explaining the meaning of opportunity cost and not basing the answer on an opportunity cost that can be
found in the source material. A number of candidates also gave an opportunity cost of producing palm oil rather
than of conserving forests.

* (d) Not exploring the external costs identified. Some candidates confused external cost with private costs and
explained for instance, rent.

Lists the common mistakes candidates made

in answering each question. This will help your
Often candidates were not awarded learners to avoid these mistakes and give them
marks because they misread or the best chance of achieving the available marks.
misinterpreted the questions.
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Question 1

Example Candidate Response — high Examiner comments

Question Part
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oAn accurate calculation.
Mark for (a) = 1 out of 1
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°The candidate needs to explain
why this loss of habitat will be a cost
to the wildlife.
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Example Candidate Response — high, continued

Examiner comments

Question

Part
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GThis is a good diagram. It is
well-labelled, clear and accurate.
The candidate writes one sentence
but does not waste much time on
a written explanation that is not
required.

Mark for (e) = 4 out of 4

aThe expected explanation is
clearly set out.

GUnderstanding of the
components of HDI is shown here.

eEvidence is provided in support
of the data.
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Example Candidate Response — high, continued Examiner comments

Question  Part
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Example Candidate Response — high, continued

Examiner comments

Question  Part
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@Again, full marks are awarded
on the first side. There is good
coverage of changes in global
income, advertising affecting

the attractiveness of Indonesia

as a tourist attraction and the
competitiveness of the Indonesian
tourist industry.

@In the first two sentences, the
candidate just writes the reverse
of what appeared in the first
paragraph.

@The last sentence does enable
the candidate to be awarded full
marks for this answer as it explains
how palm oil production could
reduce ecotourism.

Mark for (h) = 6 out of 6

Total mark awarded =
27 out of 30

How the candidate could have improved their answer

* (c) The candidate did recognise that a possible opportunity cost of conserving forests is the production of
palm oil but did not explain that this may be the (next) best alternative foregone (given up).

» (d) The candidate needed to explain how the loss of wildlife and release of harmful gases impose costs on
third parties.




Example Candidate Responses - Paper 2

Example Candidate Response — middle Examiner comments

Question Part .

%(yoJrMﬂ '
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0The candidate makes a mistake
here. It should have been 36 divided
by 60 and then multiplied by 100.
Mark for (a) = 0 out of 1

QThe first cost identified is a
variable cost but the second cost is
a fixed cost.

Mark for (b) = 1 out of 2

elt should be foregone (given up)
rather than chosen.

OThe candidate does identify a
relevant opportunity cost here.
Mark for (c) = 1 out of 2

eThe candidate identifies but does
not explain the two relevant external
costs.

Mark for (d) = 2 out of 4

eThis is the correct shift in the
supply curve.

aThe second equilibrium point
should be shown here by lines to
the axes or by E2.

oThis is not an equilibrium point.

2. | oW
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°The equilibrium should be here.

@The demand and supply curves
are accurately labelled.

mThe axes are correctly labelled.
@A written explanation is not

needed.
Mark for (e) = 3 out of 4
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Example Candidate Response — middle, continued Examiner comments

Question

Part
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@The candidate is not clear about
what the data is showing.

@There is no interpretation here.

@ Again, the candidate is not clear
about what the data indicates.
Mark for (f) = 0 out of 5

@The candidate explores how
immigration could increase the size
of the labour force. The workers
could be skilled and, as a result,
economic growth could occur.

QThe candidate recognises

that workers from other countries
could replace some Indonesian
workers. The size of the labour
force, however, will increase, so
the overall unemployment rate may
not rise. An increase in government
paying unemployment benefits will
not in itself cause a fall in GDP.

1
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Example Candidate Response — middle, continued

Examiner comments

Question

Part

%V\ﬂ\w_e&ﬁx&i(\m ; (‘h\'\\(Q wo

L COM O, (VBN

Con\d \Ameuge_._.:hqa Pops olefiov 5 Quac

Prowr The v Sow@s  Sw Al Q,osl\/\-bf,\&_‘maﬂ

ok \ne__,mom&\,\__mu&kv\ uxaz,_d\.\cm s

Q) S & Des oAV o ooz __,_____,S_DL)I_CIL&__..\Ml_ l'.l?,._.«

o L\me&\\lg_ olue 4 —E_Q___:fl.q_,___catmam&___

CounStw m OQUN& M. &_‘P_U_\,L_\M\‘_f \0&\034\_‘)_@(1}\)&"_\4\8_

e m_&w&_\WQ%\:\&muo_@@ut&k_w e o |
Al ML Conee o _&_&_?ncz&_ Ay

e Creopna Sﬁxmwm&s _ Fvow Lot "Rl |
U\acha &\ GuSe.  GIDP to cherete

omd) BOWE O i naa e nérnm—h,‘ wo\_cfzsren e |

benefk Ao _tudovetions |
W\mK__’PCOPJQ__.&AAkﬂrm ’&.CO\M&‘VSQ

Sade weiom - m_v_\s_w.\_f\_\mﬂb%b% _Bxxcx-_eu&e_\‘m__

Ao “NOXye. Aue _to

: \uwm_.tm\&_@&x&&___wo&_ﬁmbmvjw@.___
ook aowder ke \,c:ﬁ‘p__-{}L___.:)Q_\o__:)-_S..O...M® ______

W\ ove_ 0000y amd (‘Jumm\\lcu S0 \oelhor

C@( S M&QM&_QL&V.\&%‘_@

L ndove Som Lowilm \A&h&ﬁsw\mu&__}.v\ﬂmceogg

Al nekuesd :\-n.\;_\C\%iv.__-.@ﬁw.b&&.m_\a__.;_.qxe___pv_'»m__

| Covnpdadie s R0 " wiere g

@QJAMQML OGS, XS ( C_o\mpeﬁ}:{ w\f‘@\_o%

Sevvns S, S \Woxe '—)€n‘\>\e__Q»P [UVS) VI Y
afRocd _prodntt 5 Se belior Shamdnd o

AV MO -
O

WY_‘QQV\ZS\ %__:honv\gw\v\moh)%\fu ho+ iv\(‘m"nﬁﬁ:
TV Mo okove_- f_(l\fg%/\ £XQM c=talla

A g

J /3 B — oA et ﬁﬁ-n—eQ—— i H/\\)‘?&\Q_VS__t\MlE\S\\g

A _Me Pcmmﬂh._ ﬁQo_s'S___q,,Ucmm—L S - produdS

‘Dn\&ma d |o VDeEES SUQ‘)L@_CEE_PWQKQS

m\A\e Aove IS Qq\\\ ‘D&AAOMACL__Q(M)S,\\\A_S____

Q\\\FY\\ A %{\n\r\— L \03 _’\D\( eSO taerea
S o wa s\rg__'be,W\ w&_?\\.\_ A MA ?\C&mw- y-La8S

S Dpu&m S Ao e conowy :PC)LQES\A_&R&___
" oAd e S 95— LOVARS_\wowk . Lanteve (o ‘)M-*-f‘j—

U VML ghm,ox NN v Qe O Q\(\MQ -

@ The candidate recognises a
relevant possible disadvantage.

@The candidate does not establish
why inflation may occur since both
total demand and total supply are
likely to increase.

Mark for (g) = 5 out of 6

The candidate should recognise
here that the workers are highly
skilled workers.

@ This is a relevant possible
reason why Indonesian tourism may
increase in the future.

@The candidate shows an
awareness that Indonesia has
natural tourist attractions and that
they are price competitive.

@) The fall in the exchange rate

is more likely to result in a rise in
tourism as it would make it likely to
reduce the price that foreign tourists
have to pay.

@Again, the candidate does not
establish that inflation will occur.
Mark for (h) = 3 out of 6

Total mark awarded =
15 out of 30
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How the candidate could have improved their answer

» (a) The candidate used the incorrect method to calculate a percentage change.

» (b) The candidate needed to identify two variable costs but actually identified one variable cost and one fixed cost.

* (c) The candidate did recognise an appropriate opportunity cost but needed to make it clear that opportunity cost is
not the next best alternative chosen but the next best alternative foregone.

» (d) The candidate identified two relevant external costs but did not explain them. For instance, the candidate could
have explained that the release of harmful gases could cause people living nearby to becomeill.

* (e) The diagram drawn was generally good, but it did not show the original and the new equilibrium positions.
When drawing a diagram to show the effects of changes in market conditions, equilibriums should be shown.

The candidate could have saved time in answering this question as a written explanation was not required. When
candidates are asked to ‘Draw a diagram to show ..." , a diagram only is needed.

+ (f) The candidate needed to think very carefully about what the data was showing before starting to write their
answer. The candidate was not clear about the nature of GDP per head and HDI rankings.

* (g) The candidate’s answer required more depth. For instance, the candidate might have mentioned that more
people coming to live and work in the country may result in overpopulation or may have recognised that the
country’s population was already increasing. The comments on inflation should also have recognised that both total
demand and total supply could increase with more workers.

» (h) The candidate was not clear about how a fall in the country’s exchange rate would be likely to affect the
demand for tourism.

* (i) The candidate did not provide a convincing case for why inflation might occur.

13
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Example Candidate Response — low
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Examiner comments

@ This is an accurate calculation.
Mark for (a) = 1 out of 1

oThis is a variable cost.

OFirst cost identified is a fixed
cost.

°Two more costs are given here,
one fixed and one variable. Only the
first two costs given are considered.
Mark for (b) = 1 out of 2

°This is a vague statement.

eThis is not a cost of conserving
the forests.
Mark for (c) = 0 out of 2

0 It is not clear who ‘they’ are and
what an external cost may be.

eThis is a relevant cost but the
candidate needs to explain it further.
Mark for (d) = 1 out of 4

°The demand curve should not be
moved in this case.

@The candidate does not show
what the axes are measuring and
omits the original supply curve,
the new supply curve and the two
equilibrium positions.

Mark for (e) = 0 out of 4

14
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Example Candidate Response —

Question

Part

low, continued
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Examiner comments

mThe data does not actually show
economic growth. The answer is
vague and does not show a careful
analysis of the data.

Mark for (f) = 0 out of 5

@The candidate identifies a
potential benefit here but should
explain it further.

@The candidate identifies a
possible cost but it is not made clear
why this may occur.

Mark for (g) = 2 out of 6

@This is a possible reason

why Indonesian tourism may not
increase. The candidate does not
explore this point further.

@It is not clear which country’s
natural beauty is being referred to
here. If it is Indonesia (as suggested
by the source material), it might be
a reason why more rather than less
tourists may go to Indonesia.

Mark for (h) = 1 out of 6

Total mark awarded =
6 out of 30
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How the candidate could have improved their answer

* The candidate needed to pay more attention to the stimulus material and to answer the questions in more depth.

» (b) The candidate gave four costs when the question asked for two variable costs. In such a case, only the first two
costs identified are considered. In this case, the first two costs given included one fixed cost and one variable cost.

* (c) The candidate needed to be more precise on the meaning of opportunity cost and to identify an opportunity cost
of conserving forests rather than destroying forests.

+ (d) One external cost was identified but it was not explained.

* (e) The diagram produced should have been labelled, to include the original supply curve, a new supply curve to
the left and the equilibriums.

* (f) The candidate should have realised that a measure of pollution is not included directly in GDP per head or
HDI. In examining such data, candidates could consider what relationship they would expect to find and why
the relationship is likely to exist. The candidate should then assess whether the data supports the expected
relationship and provide evidence to support this. Finally, the candidate should have identified any exceptions and
provide evidence for the exceptions.

* (g) Two effects of the immigration of workers to Indonesia were identified but not explained. If a candidate states
that immigration will increase economic growth and cause pollution, they should explain why. Links need to be
provided. For example, immigration may increase economic growth as it may increase the size of the labour force
and so enable a country to produce a higher output.

» (h) The candidate again stated an effect, in this case competition, but did not explain it. In the second part of the
answer, it was not clear whether the candidate was writing about the natural beauty of Indonesia or of Singapore
and Malaysia.

Common mistakes candidates made in this question

* (@) Numerical errors.
» (b) Listing all the costs mentioned in the source material without separating out two variable costs.

* (c) Not explaining the meaning of opportunity cost and not basing the answer on an opportunity cost that can be
found in the source material. A number of candidates also gave an opportunity cost of producing palm oil rather
than of conserving forests.

* (d) Not exploring the external costs identified. Some candidates confused external cost with private costs and
explained for instance, rent.

» (e) Not recognising from the source material that a ban on stubble would reduce the supply of rice and so shifting
the wrong curve. A number of candidates did not show the equilibriums. A high proportion of candidates provided
a written analysis of the diagram. This was not required as indicated by the command word ‘show’. If candidates
are required to both draw a diagram and to provide a written analysis, they are asked to ‘Analyse, with the use of a
diagram’.

» (f) Confusing what the data showed. A number of candidates thought a ranking of 2 is a low ranking. Understanding
of, for example, the HDI should make this clear. Other candidates just described the data without explaining it. For
example, writing that Luxembourg has a GDP per head ranking of 2 and an HDI ranking of 20 is not providing any
analysis. Some candidates revealed a lack of understanding of the components of HDI and the meaning of GDP
per head.

* (g) Not providing a two-sided answer. A number of candidates explored only the benefits of immigration of workers
into Indonesia. Not all candidates considered the question in the context of Indonesia.

« (h) Writing comments that conflicted with the information in the source material. For example, some candidates
wrote that Indonesia does not have competition in tourism while the source material mentions Singapore and
Malaysia as competitors. Generally, answers tended to be stronger on why Indonesian tourism will increase in the
future than on why it might not.
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Question 2

Example Candidate Response — high Examiner comments
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0The candidate mentions exports
and imports of goods.

QThe candidate picks up on
exports and imports of goods but
does not recognise that the term
refers to the relationship between
exports and imports which could be
a deficit, surplus or balance.

Mark for (a) = 1 out of 2

0 Identification of a benefit.

°Explanation of why bigger
markets provide an advantage for
producers.

eldentification of a second benefit.

eEpranation of the second
benefit.
Mark for (b) = 4 out of 4

0The original production possibility
curve is drawn to the axes.

eThe candidate recognises
that unemployment results in
inefficiency.

eThe candidate is mistakenly
shifting the production possibility
curve.

@ It is the actual output rather than
potential output which will fall.
Mark for (c) = 3 out of 6

QStrong exploration of why an
increase in income tax may reduce
demand-pull inflation.

@Strong exploration of the other
side, in this case, why higher
income tax increases cost-push
inflation.

Mark for (d) = 8 out of 8

Total mark awarded =
16 out of 20
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How the candidate could have improved their answer

+ (a) The candidate needed to recognise that the trade in goods balance is the difference between export revenue
and import expenditure. Candidates should ensure definitions are precise.

* (c) The candidate needed to draw a diagram showing a change in the production points rather than in the
production possibility curve. They should have recognised that it is output rather than productive potential that will
fall.
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Example Candidate Response — middle Examiner comments

Part

Question 0
5 (o) lyhen  a. trade. is . balonced . Nok n a
{deticit  onor - o sarplus. condibi ton.gy
5 iy S Mg ] 5y X N s
2| d 1) Producers  can earn essential raw ‘
' i loaderiols usg(L An_.:Hhe o prod ek Oﬂ__pr_O_CCSS_
wohich__epakces. . ﬁucce_ssf:uug.:ﬁlé WY
.ncr&aﬁe_,@ Hiew, -profi I‘& ‘
'J.\ Proriu.cnr:s con_ esyn moLchmes H)a} heln
s produchion process. TRis incre. o_s;z_s__ﬁxe,_‘
ourput _ sold wb_LcLi_cheaae their
; 2 Y B O l_p N : P\?C, ((}YA&
el Ce)kei 0’@ : 2, st s i 4 d
9oRc: - \
\\ . 5
: 0\
i 3 \\ \\\ o )
\._ . -
. Y N@
OuJ’pu/J‘ ot
: : oot €
(S % s de R - %, | 22,
| An._increase in_ unem,fﬂoSmejJ\’__..mLN menn
dess: OO, Ixers. oare .- cnof \\g\ng__i*Q_J,_pchthe_

oukp ok T s ool _decrease . the . gmol oum'_

o nuj‘md' nrodLLCe,d_ cquSlnq__*h& PRC_civve)

thsh\F F L\lw cu:dﬁ_e

ﬂThe candidate does not identify
what the trade is in.

QThe candidate does not
recognise that the balance will
show the difference between export
revenue and import expenditure.
Mark for (a) = 0 out of 2

OA clear link is needed here.
Lower prices or higher quality of raw
materials will increase profits.

@ Higher output is linked to higher
revenue.
Mark for (b) = 3 out of 4

eThe candidate labels the axes
appropriately.

@There should not be a gap
between the curve and the axes.

0Again, there should be no gap.

eThe candidate recognises output
will fall but is confused on how this
will be illustrated.

Mark for (c) = 2 out of 6
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Example Candidate Response — middle, continued Examiner comments

Question  Part

1.2 1€d> |On: one _sidey =& increasing income -tax *
rediuces disposable  income  for consumers. |

[} %
o ¥ \ . N . .
Tﬁ{;sl o baldl e dmca_g_spendtng which _reduces © The candidate provides limited
af) 10o0.-€) : explanation of demand-pull inflation
; ATV ALY N T R | | here.
ﬂddiﬁonq\lg.}'r‘ incﬁecxa'mrj Yafe . of_income
might . make  corkers leane. -the. country

,Lmdjmj B high FERECESEES_emmigronls
ouk of the counbfry cwhich redyces |
i anflofion  as : theres  is much’ less @Fewer people in the country will
v spending. ) - T ~ | also reduce total demand.
t J @ 3 i
[ A ) N H

However, increasing: vale «f income Fox
will _moke _people ~bormw more  m SE

fo o pen AT en 2 roduels. This - will increase.
totad  cdem mLLOLL&&S;ﬂ.%ﬁEiQme @ 1t is not clear why people would

poll___in Flaton want to spend more.
' e

@There is a reasonable
exploration here of why cost-
push inflation may result from the

Finm\l,g_,_._nn increase . Yax__miahY _onake || increase in income tax.
J —
«ftrade o unjons  demand higher wages | | Mark for (d) = 4 out of 8
which  increasts - cost #f oradudion _
b . o costooueh ‘Hnlf ) Total mark awarded =
NeYe &3 asi0g coST-0us in 1e) ) @ ‘ 9 out of 20

How the candidate could have improved their answer

» (@) The answer provided was too vague. It was not made clear that the trade in goods balance is concerned with
exports and imports.

» (b) The candidate explained the second benefit identified but did not make clear the link between raw materials
and profits in the first benefit.

* (c) The candidate correctly labelled the axes to the diagram. The diagram would have been improved by drawing
one production possibility curve, making sure it touched the axes and including two relevant production points. The
explanation could have recognised that resources are being wasted.

* (d) The candidate provided a two-sided answer but missed some links. For example, it was not explained why
reduced spending may reduce inflation. The candidate did not recognise that workers leaving the country would not
only reduce total demand but also total supply. The candidate stated that people would borrow more to spend more
but it was not explained why. The last paragraph was the strongest part with a link between higher wages and
higher costs for firms and then cost-push inflation.
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Example Candidate Responses - Paper 2
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Examiner comments

@ Not services.

OThere is no reference to exports
and imports of goods.
Mark for (a) = 0 out of 2

eThis shows that the candidate
does not understand the meaning of
the term free trade.

Mark for (b) = 0 out of 4

o Incorrect labelling.

eA production possibility curve is
drawn accurately but the diagram
does not show a movement inside
the curve.

eThere is no written analysis.
Mark for (c) = 1 out of 6

eLess disposable income would
be stronger.

eThere is limited explanation on
one side.
Mark for (d) = 3 out of 8

Total mark awarded =
4 out of 20
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How the candidate could have improved their answer

(a) The candidate did not recognise that the trade in goods balance only includes goods. They also did not indicate
that the trades in goods balance is the difference between export revenue and import expenditure.

(b) The candidate did not understand the meaning of free trade. They appeared to think ‘free’ meant that producers
would not have to pay anything rather than they would not face trade restrictions.

(c) The candidate drew two production possibility curves but did not label the axes of the diagram. Also, they did
not recognise that the production would move inside the curve and did not provide any written analysis of the
question.

(d) The candidate provided some limited coverage of why an increase in income tax may reduce inflation by
reducing demand. The other side of the answer, that is why inflation might not fall, was not considered.

Common mistakes candidates made in this question

3

(a) Not paying sufficient attention to the words in the term. They did not always pick up on the word ‘goods’. As
a result, some wrote about both goods and services. A number of candidates did not recognise that the balance
involves the difference between export revenue and import expenditure.

(b) Not explaining the benefits identified. A small proportion of candidates wrote about the benefits to consumers
rather than producers.

(c) Shifting the production possibility curve inwards rather than moving a production point inwards. A number of
candidates mislabelled the axes, for example, as price and quantity or unemployment and economic growth. In the
written explanation, some candidates wrote about a fall in productive potential rather than a fall in output and not all
of those who did recognise that unemployment would fall, explained why.

(d) Not providing sufficient links. Some candidates wrote, for example, that an increase in income tax would reduce
spending without explaining why. A number of candidates showed a confusion between total and average costs by
writing that an increase in income tax would cause unemployment and so lower costs in terms of the total wage bill
rather than the wage rates.
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Question 3

Example Candidate Response — high Examiner comments
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°A strong definition.
Mark for (a) = 2 out of 2

QThe candidate recognises that
an extension in demand is the result
of a fall in price.

eThe candidate gives the contrast
here of an increase in demand
being shown by a shift to the right
of the demand curve and gives a
reason.

Mark for (b) = 3 out of 4

@ The candidate recognises that
tax revenue will increase.

@ Such spending may benefit
those on low income.

eThe influence of price elasticity
of demand is recognised here.

aThe candidate should explain
why elastic demand will result in
lower tax revenue.

@ The overall impact on the gap
between the rich and those on low
income needs to be considered.
Mark for (c) = 3 out of 6

eTwo relevant reasons for
imposing a maximum price on food
are explored.

@ It is not clear here which other
firms are being referred to.

@ This is relevant but more
explanation would be useful.
Mark for (d) = 6 out of 8

Total mark awarded =
14 out of 20
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How the candidate could have improved their answer

(a) The candidate produced a good answer which not only recognised that a demerit good is harmful but also more
harmful than consumers realise.

(b) The answer was quite good but needed to recognise that an extension in demand is, for example, shown by a
movement along the demand curve to the right.

(c) The candidate focused on the effects on tax revenue. It was necessary to also consider how an increase in
indirect tax may affect the poor relatively more than the rich.

(d) The candidate produced quite a good answer but needed to think through the points more carefully, particularly
on why a maximum price should not be set. The last sentence was clear but too brief on the points. Earlier in the
paragraph, it was not clear why consumers would be able to buy from other firms as those other firms would also
be subject to maximum price.
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Example Candidate Response — middle Examiner comments
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°The candidate gives a limited
definition.
Mark for (a) = 1 out of 2

QThe candidate recognises that
an extension in demand is caused
by a change in price.

@ The candidate makes a relevant
contrast.

o Examples of the other factors are
given.
Mark for (b) = 3 out of 4

e It is not made clear what ‘a
decrease in income distribution’
means.

@ The influence of price elasticity of
demand might be considered here.

aThe link to more profits is
confused and is moving away from
the focus of the question.

eThe candidate notes the idea
that tax revenue may rise but the
point is not developed.

Mark for (c) = 1 out of 6

eThe candidate carries out some
limited exploration of the case for
imposing a maximum price on food
here.

@Understanding of what motivates
firms is not strong.

OThis is a reasonable exploration
of why a government should not
impose a maximum price.

Mark for (d) = 4 out of 8

Total mark awarded =
9 out of 20
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How the candidate could have improved their answer

(a) The definition given in the answer was limited. The candidate needed to go further by recognising that a demerit
good is not only harmful but also more harmful than consumers realise or that it causes external costs.

(b) The candidate should have developed the point on an extension in demand by, for example, mentioning that it
is shown by a movement along the demand curve to the right.

(c) The answer needed to be clearer on what is meant by a decrease in income distribution. It also showed
confusion in thinking that higher prices resulting from higher costs would increase prices.

(d) The candidate produced a two-sided answer with a reasonable first and third paragraph. The candidate should
have made clear that to have the effects described, the maximum price would have to be set below the equilibrium
price and that demand would then exceed supply.
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Example Candidate Response — low
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Examiner comments

°This is a partial definition of a
public good.

QThis is an example of a demerit
good but the question does not ask
for one.

Mark for (a) = 0 out of 2

eThe candidate shows no
understanding of either an
extension in demand or an increase
in demand.

Mark for (b) = 0 out of 4

oThe references to those on

low incomes being ‘mostly affect’
and the vague reference to ‘their
distribution of income (decrease)’
suggests that those on low incomes
will lose more of their income than
the rich.

°The candidate recognises tax
revenue may increase.
Mark for (c) = 2 out of 6

eThe candidate identifies a reason
but does not develop the point.

eThe candidate shows recognition
of the aim of a maximum price to
avoid price being too high.

Mark for (d) = 2 out of 8

Total mark awarded =
4 out of 20
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How the candidate could have improved their answer

(a) The candidate confused a demerit good with a public good. An example of a demerit good was given but the
question did not ask for this.

(b) The candidate needed to show accurate awareness of the terms ‘an extension in demand’ and ‘an increase

in demand’. The candidate provided a confused description of an extension in demand and then confused an
increase in demand with an extension in demand.

(c) The candidate recognised that those with a low income may be affected more than those with a high income
and that tax revenue would rise. However, these points were not explained and were not developed. For example,
it was not explained why the poor would be affected more or how the government could use the tax revenue
gained to help the poor.

(d) The candidate again stated the points but did not explain them.

Common mistakes candidates made in this question

3

(a) Confusing a demerit good with a merit good or a public good. Other candidates provided a limited definition,
only recognising that a demerit good is harmful.

(b) Confusing an extension in demand with an increase in demand. Some candidates did not seem to be aware of
the terms and wrote, for example, about the differences in the length of time a product is being demanded.

(c) Concentrating on the total tax paid by the rich and those with low income rather than the proportion of tax paid
and not considering how the tax revenue raised may be used to affect income distribution. While those on low
income pay less in total in terms of indirect taxes than the rich, they pay a higher proportion of their income. Higher
indirect taxes can also enable a government to raise more tax revenue which can be spent to make income more
evenly distributed.

(d) Not answering the actual question set. Some candidates wrote about imposing a minimum price or a tax rather
than a maximum price. Defining the term at the start of the answer may have helped candidates. Some candidates
only stated points and did not support the comments they made with good economics.
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Question 4

Example Candidate Response — high Examiner comments
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0The candidate identifies two
relevant functions.
Mark for (a) = 2 out of 2

QThe reason why higher wages
may be a benefit or why they may
be higher in another country needs
explaining.

eGood explanation of why
overpopulation may encourage
people to emigrate.

Mark for (b) = 3 out of 4

°A clear analysis of several
relevant reasons including
increased productivity, long working
hours, belonging to a strong trade
union and being in short supply.
Mark for (c) = 6 out of 6

eThe candidate makes it clear
here that they understand price
elasticity of demand (PED) and the
influence of the price of substitutes
on PED.

(© More exploration of whether cars
are or will be luxuries or necessities
by the candidate would be useful.

@ Overall, the candidate shows a
good understanding of PED. More
application to the market for cars by
the candidate would be useful.
Mark for (d) = 7 out of 8

Total mark awarded =
18 out of 20
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How the candidate could have improved their answer

(b) Better living standards were explained by the candidate in terms of the home country experiencing pollution and
traffic congestion due to overpopulation. The first reason given, however, was not explained. The candidate should
have mentioned either why wages might be higher in another country or the benefits higher wages could give.

(c) The candidate produced a strong answer with a number of relevant causes analysed.

(d) The answer was strong, revealing a good understanding of price elasticity of demand and an ability to apply the
concept. There might have been a little more explanation of some of the points. For example, the candidate might
have explained why cars may become more of a luxury and how taking up a small proportion of income may affect
affordability rather than income.
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Example Candidate Response — middle Examiner comments
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0The candidate identifies relevant
functions.

elt is not clear who the money is
given to and on what conditions.
Mark for (a) = 1 out of 2

eThe candidate explains this point
on the influence of inflation.

°The candidate needs to explain
why more wages would attract
people to emigrate or why wages
may be higher in another country.
Mark for (b) = 3 out of 4

oThis point is clearly expressed
using relevant economics.

eExperience, skills and inflation
are relevant causes. Any of these
points could have been explored
further to be awarded more marks.
Mark for (c) = 5 out of 6

aThe candidate does not answer
the question.

eAt this point, the candidate needs
to link to change in the price of cars.

eThere is no reference to the
price elasticity of demand for cars.
The candidate does not answer the
actual question set.

Mark for (d) = 0 out of 8

Total mark awarded =
9 out of 20

How the candidate could have improved their answer

+ (@) The candidate clearly identified one function. The second function the candidate gave was too vague. The
candidate may have been thinking about lending money, but this was not clear.

» (b) The candidate needed to explain why higher wages may attract emigrants.

* (c) The candidate produced a good answer which just required a little more depth. For example, the candidate
might have explained why workers would need higher wages when there is inflation.

» (d) The candidate did not answer the question set. The candidate made no reference to price elasticity of demand
and instead wrote about why demand for cars may or may not increase. It is important that candidates consider
what a question is asking before they start writing their answer.
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Example Candidate Response —

low
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Examiner comments

oA relevant function.

QThis statement is not clear. The
candidate may mean that it also
provides loans for firms as well

as individuals. This would still be
lending.

Mark for (a) = 1 out of 2

eThis is a reason for visiting rather
than living in another country.

@ This is a relevant reason but one
which needs explaining.
Mark for (b) = 1 out of 4

eThere is just some idea that
demand for loans may increase.
Mark for (c) = 1 out of 6

eThe answer contains vague
statements which do not answer the
question.

Mark for (d) = 0 out of 8

Total mark awarded =
3 out of 20
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How the candidate could have improved their answer

(a) The candidate gave one relevant function in their answer. Their attempt at a second function was too vague.
They did not make clear what function a commercial bank may provide for firms. If they intended ‘loans’, this would
have been lending again.

(b) The candidate identified higher paid jobs but did not explain why this might attract emigrants. Going to buy cars
in another country is unlikely to result in people emigrating.

(c) The candidate’s answer suggested that demand for loans may increase bank workers’ wages. This could have
been linked to higher profits and more causes could have been considered.

(d) A number of statements were made in the answer. These were, however, confused and did not answer the
question. For instance, it was not clear what was meant by ‘the more cars increases’ and it was difficult to work out
why demand for cars would not become elastic if they became ‘tired’.

Common mistakes candidates made in this question

3

(a) Confusing the functions of a central bank with the functions of a commercial bank. Some candidates provided
answers that were too vague, for example, ‘to help firms’. A small proportion of candidates wrote about the
functions of money.

(b) Not explaining the points identified. Also, some candidates did not make clear whether they were referring to
the country emigrated from or emigrated to.

(c) Not exploring the question in sufficient depth. For example, some candidates wrote that an increase in demand
for bank workers would raise wages without explaining why demand may increase.

(d) Not paying sufficient attention to the question. A number of candidates wrote about whether demand for cars
will increase or decrease in the future rather than whether demand will become more responsive to a change in

price in the future. Defining price elasticity of demand at the start of the answer might have helped candidates to
focus on the actual question.
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Question 5

Example Candidate Response — high Examiner comments
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Example Candidate Response — high, continued Examiner comments
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@A good definition.

@This could be explained more.

@This is a reasonable explanation
of the benefit of a lower exchange
rate.

@This is rather confused. A lower
exchange rate would be expected
to increase inflation as total
demand may rise and import prices
would increase.

QThis is a relevant advantage of a
fixed exchange rate.

@The reference to ‘measure of
economic growth’ is confused.

@This sentence links in economic
growth better but the candidate
needs to explain how fluctuations
in the exchange rate can reduce
economic growth or the stability of
growth. For example, the effect on
investment might be examined.
Mark for (d) = 5 out of 8

Total mark awarded =
17 out of 20
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How the candidate could have improved their answer

(a) The candidate gave a clear definition of wages.

(b) The candidate provided a good explanation of two reasons why a country’s exports may rise. They linked
higher inflation to demand for and the competitiveness of exports and an increase in the exchange rate to a higher
price of exports.

(c) The answer showed a good awareness of the nature of investment and economic growth.

(d) The answer showed an understanding of both a floating and a fixed exchange rate. It was two-sided but could
have been stronger on the effects of a fall in the exchange rate and could have considered more advantages of a
floating exchange rate.
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Example Candidate Response — middle Examiner comments
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oA clear definition.
Mark for (a) = 2 out of 2

QA higher price of exports is

a reason. The reference to an
appreciation is not clear. It is not
certain how the government would
stop the appreciation.

OThis is a possible reason.

°This shows some confusion.
Economic growth can arise from
selling more products at home or to
other countries.

Mark for (b) = 2 out of 4

e First relevant link.

eSecond relevant link.

@ Third relevant link.

°Fourth relevant link.

eA clear answer. Other aspects
could be considered, e.g. the effect
of higher investment on advances in
technology and productivity and so

on economic growth.
Mark for (c) = 4 out of 6
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Example Candidate Response — middle, continued Examiner comments

Question  Part

A dixed QO_CQ\"Q)D exchorge. wde Qutem IS @A relevant definition.
one Ko 1o Sited and comtrolled  bythe @)
_centm) ko onbealf! 0@ the covemment.
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penive 4o PO S 11 : ,
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@The candidate does not explain
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@A relevant definition.

~ Thecetkra) \onad  waoovd ewe \ests contw)
.60 Yhe deprecction ot e corteney, and

Ahe _couotto *m)ﬂm‘r_\@k\/e_m_@m\ce._looj:___v
o oy ?%\rxx—k@ oY C0 CAQEOBINe price @This is a statement and not
v an explanation. It would be good

wiveh {9 "’D)' onideal Q’““m—@——\ | |to explain why a higher price of

imports would be harmful and to
1N copclosten %ae-_cgm% Dneold ek exasich consider the effect on exports.

Leovo_o_fixedSrmicm exchonge tote e, | | Mark for (d) =2 outof 8

o o Q\oc\'h oGy one . beccpee, A ‘\'\’\e@'u_:ccﬂd_
be \esey comiol.

Total mark awarded =
10 out of 20

How the candidate could have improved their answer

* (a) The candidate gave a good definition of wages.

+ (b) The candidate identified two reasons but did not adequately explain them. More expensive exports are likely to
reduce exports but how a government trying to stop exports being more expensive would result in fewer exports is
not clear. A lack of goods and services could also reduce exports but again the point was not clearly explained.

* (c) The candidate’s answer was quite good but required more on why investment may increase output.

* (d) The candidate made a number of statements and provided definitions but did not develop the points. For
example, the candidate did not explain why a higher price of imports may be a disadvantage.
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Example Candidate Response —

low
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Examiner comments

°The candidate recognises that
wages are a payment.

alt is not clear who 'they" are.
Mark for (a) = 1 out of 2

eThe candidate identifies but does
not explain the lower demand for
exports.

°The candidate gives a second
relevant reason but this needs an
explanation.

Mark for (b) = 2 out of 4

eThis sentence by the candidate
does not answer the question.
Mark for (c) = 0 out of 6

elt is too uncertain here as to
whether tourists would get more for
their money if the exchange rate
increases or decreases.

GThere is the idea here of greater
stability in the case of a fixed
exchange rate.

Mark for (d) = 1 out of 8

Total mark awarded =
4 out of 20
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How the candidate could have improved their answer

(a) The candidate needed to state who ‘they’ were.

(b) Two relevant reasons were identified but not explained. The candidate should have explained why demand for
exports may fall and why not having sufficient resources may reduce exports.

(c) The candidate wrote one long sentence which stated that higher government investment would increase a
country’s economic growth rate but provided no analysis of the relationship between investment and economic
growth.

(d) The first sentence of the candidate’s answer needed to be clearer. For example, the candidate should have
decided whether a decrease or an increase in an exchange rate would be likely to encourage tourism in the
country. At the end of the answer, the candidate suggested that a fixed exchange rate is more stable than a floating
exchange rate but did not develop the point.

Common mistakes candidates made in this question

3

(a) Not linking wages to labour. A small proportion of candidates did not state that wages are a payment to workers
(labour).

(b) Not recognising that the question asks for reasons ‘other than methods of protection’. As a result, a number

of candidates wrote about tariffs and quotas. Some other candidates showed confusion of how a change in the
exchange rate might affect the price of exports.

(c) Jumping stages in the analysis. For example, some candidates wrote that a rise in investment would cause
consumers to buy more goods and services without providing any links from investment to advances in technology,
higher quality products, lower costs and lower prices and so to higher demand for goods and services.

(d) Not going beyond definitions of fixed and floating exchange rates. Some candidates did not discuss, for
example, the benefits of greater certainty in the case of a fixed exchange rate and greater flexibility in the case of a
floating exchange rate.
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